s22x We Are Expanding Stock

(=LY For.Your Future...

Complete
Wet-Line
It
For Dump

Truck/
%% e Trailer

‘& =_s.. Application
=% PP

ACCESSORIES PTO's

Part # Description Notes Part # Description Notes
PB10 Pump Support Bracket |Ideal for Dump Applications 489XFAHX-A3XK PTO Assembly 489 Series 8 Bolt 0.520:1 Ratio
HBV125 Ball Valve Brass 1 1/4” NPT 489XLAHX-A3XK PTO Assembly 489 Series 8 Bolt 0.691:1 Ratio
HFA2-1025 Return Line Filter SOGF"M, 11/4" NPT— 489XQAHX-A3XK PTO Assembly 489 Series 8 Bolt 0.865:1 Ratio

Assembly 10 Micron—25PSI Bypass
TANKS AND HOSE KITS PUMPS

Part # Description Notes Part # Description Notes
A4500 é;‘ggli;‘;rgum Tank 50 Gallon DP10225RMS Dump Pump 4 Bolt Direct Mount Manual Shift
A4000 Aluminum Upright Tank |50 Gallon DP10225LMS Dump Pump 4 Bolt Direct Mount Manual Shift
A3000 Steel Upright Tank 50 Gallon DP10125BMS Dump Pump 4 Bolt Direct Mount Manual Shift
A3250 Siodl Skelemeum Tank |25 Gallen DMD40020XR200 Light Dump Pump 4 Bolt Direct Mount Manual Shift
HK12-8-2L 2 Line Hose Kit 12' Pressure, 8' Suction DMD40020XL200A Light Dump Pump 4 Bolt Direct Mount Air Shift
HK14-10-2L 2 Lime [Hesa 4 14' Pressure, 10 Suction DMD25ZLAS250 Dump Pump 4 Bolt Direct Mount Air Shift
HK20-16-21 2 Line Hose Kit 20’ Pressure, 16' Suction DG20ZLAS2532 Dump Pump Gemini 4 Bolt Direct Mount Air Shift
HK16-12-21 2 Line HMese [ 16' Pressure, 12' Suction DMD40020XL200 Light Dump Pump 4 Bolt Direct Mount Manual Shift
AHK1212 3 Line Hose Kit 12" Pressure, 12’ Suction

Visit CCCParts.com for more information e Strategic locations across the United States




+~Hundreds of New Products
in-Stock and Ready to Ship

Parts Company

PTO/Hoist
Control Valve

Valve only — does
not Include console

13764246

Shift Cover Gasket | TG Series 280GDRIP- 57 Assembly 280 Series 10 Bolt

30760228

- B5RK
PTO Pressure Switch >80GGFIP-

4 Way Air Valve

2 Position Push/
Pull, Single Spool

TG-GSK-A1

ir Shi PTO Assembl 280 Series 10 Bolt
Air Shift Gasket TG Series B5RK b/
& Seal Kit 280GMFJP-

4 Way Solenoid Valve

12 VDC, 2 Position

TGGSKC

f PTO Assembl; 280 Series 10 Bolt
Cable Shift Gasket TG Series B5RK Yy

& Seal Kit A89GLAHX-

4 Way Air Actuated
Pilot Valve

2 Position with
Spring Return- 5
Ports (working),
1 Port (control),
1/4" Port Size,
45-130 PSI

35740860

12V Solenoid Valve AZXK PTO Assembly 489 Series 8 Bolt

35T36092

12V Solenoid Valve 4BIXHAHX- [ b1 Assembly 489 Series 8 Bolt

35M18653

— ! [A3xK
2 Position 3 Way with| - oy a iy [645 Geared

Air Control Valve
Lockout Safety Knob 3XX Adapter 6 Bolt

Tailgate Cylinder

2.5" x 8 Double
Acting 10
Bracket Mount

30TK4124

PTO Indicator

Switch with Pigtail 320361x  [F40 Al Shift

30735687

Assembly
329202X Switch Indicator Kit

Rocker Switch 3 Post On/Off

30TK4123

Indicator Switch N.C.

Tailgate Cylinder

3.5" x 8 Double
Acting 10
Bracket Mount

11737790

379652 Indicator Switch
Shaft Seal 2 Required for "KG” - -
or "PG” Output 3-P-282X PTO Output Shaft 7/8" 13 Spline

Lift Axle Control
Panel

Stainless Steel
with 1/4" Fittings

06T39143

TG Series 7/8" 328346-10X |PTO Control Cable  |10ft

Output Shaft

Air Pressure
Regulator

1/4" Ports 135CFM
@ 100PSI (0-125PSI)

34740902

L2 Sl 328380X  |Cable Mounting Kit

M2100A890MDXE10-14

2100 Series Hydraulic Pump - Bi-Rotational

13738542

Wiring Harness CS Series Solenoid -
329648X Valve Shifter Dash Mount 1 Way
Gasket —
4 Bolt PTO Valve Cap

12v

28TK4587

Bearing Cap 329463-12X A bl
Solenoid - PTO S

Description

Lectra Shift 379686-1 PTO Solenoid Valve |12V

328865X | Control Valve Shifter |2 POSition
Panel Mount
PTO Air Shift Cab

Control Kit

328388-98X

2/4 Bolt SAE "B" Flange, 1" NPT Side & Rear Ports,
2.0 CID, SAE "B" Spline 7/8" 13 Tooth Shaft

M2100A890MDXK15-14

2100 Series Hydraulic Pump - Bi-Rotational

3.0 CID, SAE "B" Spline 7/8" 13 Tooth Shaft

M2100A890MDXK20-14

2100 Series Hydraulic Pump - Bi-Rotational

B
B
2/4 Bolt SAE "B" Flange, 1-1/4" NPT Side & 1" NPT Rear Ports,
B
B

2/4 Bolt SAE "B" Flange, 1-1/4" NPT Side & 1" NPT Rear Ports,
4.0 CID, SAE "B" Spline 7/8" 13 Tooth Shaft

P5100A231IRXF17-14

5100 Series Hydraulic Pump — CCW Rotation

4 Bolt SAE "B" Flange, 1"x 1-1/4" NPT Side Ports, 3000 PSI R/V,
4.5 CID, SAE "B" Spline 7/8" 13 Tooth Shaft

P5100C531ADXK25-14

5100 Series Hydraulic Pump — Bi-Rotational

4 Bolt SAE "B" Flange, Outboard Bearing, 1-1/4" NPT Side Ports,
6.43 CID, SAE "B" Spline 7/8" 13 Tooth Shaft, Continental

P5151A224AAXQ25-54

5151 Series Hydraulic Pump - Bi-Rotational

2/4 Bolt SAE "B" Flange, Type 2, 1-1/2" NPT Side & Rear Ports,
6.43 CID, SAE "B" Spline 7/8" 13 Tooth Shaft

M5151A824AAXK17-54

5151 Series Hydraulic Motor — Bi-Rotational

2/4 Bolt SAE "B" Flange, Type 2, 1-1/4" NPT Side & 1-1/2" NPT Rear Ports,
4.5 CID, SAE "B" Spline 7/8" 13 Tooth Shaft

M5151A824AAXQ25-54 (HAY)

5151 Series Hydraulic Motor — Bi-Rotational

2/4 Bolt SAE "B" Flange, Type 2, 1-1/2" NPT Side & Rear Ports,
6.43 CID, SAE "B" Spline 7/8" 13 Tooth Shaft

P5151C531AAZA25-14 (HAY)

5151 Series Hydraulic Pump — Bi-Rotational

4 Bolt SAE "B" Flange, Outboard Bearing, 1-1/2" NPT Rear Ports,
6.43 CID, SAE "B" Spline 7/8" 13 Tooth Shaft

Air Shift for DMD Dump Pump

Strategic locations across the United States—-Same day shipping

* Buena Park, CA
e Denver, CO

e Charlotte, NC
e Houston, TX

e Atlanta, GA e Indianapolis, IN * Kansas City, MO
e Tulsa, OK » Mechanicsburg, PA  « Grand Prairie, TX

On-Line Ordering Capabilities

Visit CCCParts.com or call (800) 843-6452 for more information.

02/10/20




